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OPiz| OPT-4J |OPT-4LB |OPT-4G |OPT-4M |OPT-4K | 504/ 127| 8 |2 7| 10| | 450
oP5u| OPT-5J |OPT-5LB |OPT-5G |OPT-5M |OPT-5K | 60 |13.6] 111 | 855 7 | 10 | 1 690
0P7L|OPT-7J |OPT-7LB |OPT-7G |OPT-7M |OPT-7K | 75 |15.2| 126 [1025| 9 | 10 | 1 750
Opéz| OPT-8J |OPT-8LB |OPT-8G |OPT-8M |OPT-8K | & 172|188 |15 | 12 | 10 | | 870
0P10%| OPT-10J |OPT-10LB| OPT-10G |OPT-10M| OPT-10K 105522 | 170 137.8| 12 | 5 | 1 1170
oP12%| OPT-12J |OPT-12LB| OPT-12G |OPT-12M| OPT-12K 125 |25.7] 203 164 | 15 | 5 | 1 1,620
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0Pis| OPX-4J |OPX-4LB | OPX-4G | OPX-4M | OPX-4K | 504 12.7| 8| 7| 10 | i 480
0P52| OPX-5J |OPX-5LB | OPX-5G | OPX-5M | OPX-5K | &0 136 11| 7 | 10 | | 750
0P| OPX-7J |OPX-7LB | OPX-7G | OPX-7M | OPX-7K | 7% 152125 9| 10 | | 780
oFén| OPX-8J |OPX-8LB | OPX-8G | OPX-8M | OPX-8K | & |17.2|143| 2 | 10 | 1 900
0P10Z| OPX-10J |OPX-10LB| OPX-10G | OPX-10M | OPX-10K [105.5(22 | 170 | 12 5 1 1,200
oP12&!| OPX-12J |OPX-12LB| OPX-12G | OPX-12M | OPX-12K |125 |25.7| 203 | 15 | 5 | 1 1,650
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0P#%| OPU-3J |OPU-3LB | OPU-3G | OPU-3M | OPU-3K | 3.8 9.9] 8 |13.1] 10 | 1 390
0P| OPU-4J |OPU-4LB | OPU-4G | OPU-4M | OPU-4K | 50.4 12.7 48 |20 | 10 | 1 480
oFes| OPU-5J |OPU-5LB | OPU-5G | OPU-5M | OPU-5K | 60 |13.6] 5 [20 | 10 | 1 750
0P| OPU-7J |OPU-7LB | OPU-7G | OPU-7M | OPU-7K | 75 |152| 63 |3.8] 10 | | 780
0Pz OPU-8J |OPU-8LB | OPU-8G | OPU-8M | OPU-8K | & |17.2| 7 |a0.8] 10 | | 900
0P102| OPU-10J |OPU-10LB| OPU-10G | OPU-10M | OPU-10K |105.5/22 | 98 |46 5 1 1,200
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